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CIRCUMFERENCE AND LENGTH OF ARC

Complete the following by filling in the values.

1. Find the circumference of a circle of diameter 49 mm. [use & = ~z-7-2-]

Solution:

Using C = D

2. Calculate the circumference of a circle given a radius of 21 cm.

Solution
Using C = 2ntr
C= X X
C = . X = cm

3. Calculate the arc length of the sector shown.

Solution: Using | = 2mr -2

360°
l= X X T
3
= X X X ==__
8

4. Calculate the arc length of the sector shown.
[angle = 240°]
0

Solution: Using [ = 2nr 360°




